

E. C. DANIEL (*)

On the Absolute Nörlund Summability Factors of Infinite Series. (**)

1.1. - Definitions. Let $\sum a_n$ ⁽¹⁾ be a given infinite series with the sequence of partial sums $\{s_n\}$. Let $\{p_n\}$ be a sequence of constants, and let us write

$$P_n = p_0 + p_1 + \dots + p_n, \quad P_{-1} = p_{-1} = 0.$$

The sequence-to-sequence transformation:

$$(1.1.1) \quad t_n = \sum_{\nu=0}^n \frac{p_{n-\nu} s_\nu}{P_n} \quad (P_n \neq 0)$$

defines the sequence $\{t_n\}$ of NÖRLUND means ⁽²⁾ of the sequence $\{s_n\}$, generated by the sequence of coefficients $\{p_n\}$. The series $\sum a_n$ is said to be absolutely summable (N, p_n) , or summable $|N, p_n|$, if the sequence $\{t_n\}$ is of bounded variation, that is, $\sum |t_n - t_{n-1}| \leq K$ ⁽³⁾. *Absolute harmonic summability* is the particular case of the summability $|N, p_n|$ for $p_n = \frac{1}{n+1}$.

(*) Indirizzo: St. Aloysius' College and Dept. of Post-Graduate Studies and Research in Math., University, Jabalpur, India.

(**) Ricevuto: 1-IX-1964.

(1) Throughout the paper \sum denotes \sum_1^∞ .

(2) NÖRLUND [6]; see also WORONOI [9], where substantially the same definition was given. This is the English translation of the paper of WORONOI (in Russian) due to TAMARKIN.

(3) MEARS [5]; K denotes here, as elsewhere, a positive constant, not necessarily the same at each occurrence.

For any sequence $\{f_{n,v}\}$ depending on n and v , we write

$$\Delta_v f_{n,v} = f_{n,v} - f_{n,v+1};$$

and for any sequence $\{f_n\}$,

$$\Delta f_n = f_n - f_{n+1}.$$

A sequence $\{\lambda_n\}$ is said to be convex ⁽⁴⁾ if

$$\Delta^2 \lambda_n \geq 0, \quad n = 1, 2, \dots,$$

where

$$\Delta^2 \lambda_n = \Delta(\Delta \lambda_n) = \Delta \lambda_n - \Delta \lambda_{n+1}$$

and

$$\Delta \lambda_n = \lambda_n - \lambda_{n+1}.$$

If
$$\sum_{v=1}^n \frac{|s_v|}{v} = O(\log n),$$

as $n \rightarrow \infty$, then $\sum a_n$ is said to be strongly bounded by logarithmic means with index 1, or bounded $[R, \log n, 1]$ ⁽⁵⁾.

We generalise the above definition in a natural way as follows. We say that $\sum a_n$ is bounded $[R, P_n, 1]$, if

$$(1.1.2) \quad \sum_{v=1}^n p_v |s_v| = O(P_n),$$

as $n \rightarrow \infty$.

1.2. - Introduction. In 1962, PATI ⁽⁶⁾ proved the following as a factor theorem connecting boundedness $[R, \log n, 1]$ and summability $|C, 1|$.

Theorem A. *Let λ_n be a convex sequence such that $\sum n^{-1} \lambda_n$ is convergent. If $\sum a_n$ is bounded $[R, \log n, 1]$, then $\sum \lambda_n a_n$ is summable $|C, 1|$.*

Now absolute harmonic summability implies summability $|C, \delta|$, for every $\delta > 0$ ⁽⁷⁾. Naturally therefore, we would expect the factors to be heavier in case we were interested in getting the result that $\sum \lambda_n a_n$ is summable $\left| N, \frac{1}{n+1} \right|$.

This idea led LAL ⁽⁸⁾ to the following theorem.

⁽⁴⁾ For properties of *convex* sequences, see, for example, ZYGMUND [10], vol. I, p. 93.

⁽⁵⁾ See PATI [8], p. 293.

⁽⁶⁾ PATI [8], Theorem 1.

⁽⁷⁾ MC FADDEN [4], p. 175.

⁽⁸⁾ LAL [3], Theorem 2.

Theorem B. *If $\sum a_n$ is bounded $[R, \log n, 1]$, then the series $\sum \log(n+1)\lambda_n a_n/n$, where $\{\lambda_n\}$ is a convex sequence such that $\sum n^{-1}\lambda_n$ is convergent, is summable $\left| N, \frac{1}{n+1} \right|$.*

2.1. - The object of this paper is to establish the following general theorem, which contains as a particular case the result of Theorem B, when one takes

$$p_n = \frac{1}{n+1}.$$

Theorem. *If $\sum a_n$ is bounded $[R, P_n, 1]$ then the series $\sum P_n \lambda_n p_n a_n$ is summable $|N, p_n|$ under the following conditions:*

(a) $\{\lambda_n\}$ is a positive, convex and bounded sequence such that the series $\sum p_n \lambda_n$ is convergent and the sequence $\left\{ \frac{1}{p_n} P_n \Delta \lambda_n \right\}$ is bounded,

(b) $\{p_n\}$ is positive monotonic non-increasing,

(c) there exists a monotonic increasing function of n , say $\mu_n (< n-1)$, for sufficiently large n such that, as $n \rightarrow \infty$,

$$(i)_a \quad P_n - P_{n-\theta_n} = O(1) \quad (i)_b \quad p_{n-\theta_n} = O(p_n);$$

$$(ii) \quad p_{\theta_n} = O(p_n),$$

$$(d) \quad \frac{p_n}{p_{n+1}} = O(1),$$

$$(e) \quad \sum p_n^2 < \infty,$$

$$(f) \quad \frac{\Delta p_n}{p_n^2} = O(1),$$

$$(g) \quad \left(\frac{1}{p_n} - \frac{1}{p_{n-v}} \right) p_v = O(1) \quad \text{for } 1 \leq v \leq \theta_n - 1.$$

2.2. - We shall require the following lemmas for the proof of the theorem.

Lemma 1. *If the sequence $\{p_n\}$ satisfies the conditions*

$$(i) \quad \frac{\Delta p_n}{p_n^2} = O(1), \quad \text{and} \quad (ii) \quad \frac{p_n}{p_{n+1}} = O(1),$$

(^o) Throughout the paper θ_n denotes the greatest integer not greater than μ_n .

then

$$(a) \quad \Delta \frac{1}{p_n} = O(1) \quad \text{and} \quad (b) \quad \frac{\Delta_\nu p_{n-\nu}}{p_{n-\nu}^2} = O(1), \quad (1 \leq \nu \leq n-1).$$

Proof. We have

$$\begin{aligned} \Delta \frac{1}{p_n} &= \frac{1}{p_n} - \frac{1}{p_{n+1}} = -\frac{\Delta p_n}{p_n p_{n+1}} \\ &= \frac{1}{p_n p_{n+1}} O(p_n^2) = O\left(\frac{p_n}{p_{n+1}}\right) = O(1), \end{aligned}$$

by hypotheses (i) & (ii).

We also have ($1 \leq \nu \leq n-1$)

$$\begin{aligned} \frac{\Delta_\nu p_{n-\nu}}{p_{n-\nu}^2} &= \frac{p_{n-\nu} - p_{n-\nu-1}}{p_{n-\nu}^2} = -\frac{p_{n-\nu-1} - p_{n-\nu}}{p_{n-\nu-1}^2} \cdot \frac{p_{n-\nu-1}^2}{p_{n-\nu}^2} \\ &= O(1) \cdot O(1), \text{ by hypotheses (i) \& (ii),} \\ &= O(1). \end{aligned}$$

Lemma 2. If $p_n > 0$, then

$$\sum_{n=1}^{\infty} \frac{p_n}{P_n P_{n-1}} \leq K.$$

Proof.

$$\sum_1^m \frac{p_n}{P_n P_{n-1}} = \sum_1^m \Delta \frac{1}{P_{n-1}} = \frac{1}{P_0} - \frac{1}{P_m}.$$

Since $\{P_n\}$ is monotonic increasing, $\left\{\frac{1}{P_n}\right\}$ is monotonic decreasing. Also $\frac{1}{P_m} \geq 0$.

Hence $\left\{\frac{1}{P_n}\right\}$ is convergent to a limit, l , say, such that $0 \leq l \leq \frac{1}{P_0}$. Hence

$$\sum_{n=1}^{\infty} \frac{p_n}{P_n P_{n-1}} = \frac{1}{P_0} - l \leq \frac{1}{P_0}.$$

Lemma 3. *If the sequence $\{\lambda_n\}$ is non-increasing such that the series $\sum p_n \lambda_n$ is convergent, then*

$$(a) \quad P_m \lambda_m = O(1);$$

$$(b) \quad \sum_{n=1}^m P_n \Delta \lambda_n = O(1),$$

as $m \rightarrow \infty$.

Proof. We have

$$(2.2.1) \quad \lambda_m P_m = \lambda_m \sum_{n=0}^m p_n = O\left(\sum_0^m \lambda_n p_n\right) = O(1),$$

as $m \rightarrow \infty$, by hypothesis.

Also, by (2.2.1),

$$\begin{aligned} \sum_{n=1}^m P_n \Delta \lambda_n &= \sum_{n=1}^{m-1} \Delta P_n \sum_{\nu=1}^n \Delta \lambda_\nu + P_m \sum_{\nu=1}^m \Delta \lambda_\nu \\ &= \sum_{n=1}^{m-1} (-p_{n+1})(\lambda_1 - \lambda_{n+1}) + P_m(\lambda_1 - \lambda_{m+1}) = \sum_{n=1}^{m-1} p_{n+1} \lambda_{n+1} + \lambda_1(p_0 + p_1) - P_m \lambda_{m+1} \\ &= O(1), \end{aligned}$$

as $m \rightarrow \infty$, by hypothesis.

This completes the proof of Lemma 3.

Since, if $\{\lambda_n\}$ is convex and bounded, then it is non-increasing, therefore the following result follows from Lemma 3.

Corollary. *If λ_n is a convex and bounded sequence such that the series $\sum p_n \lambda_n$ is convergent, then*

$$(a) \quad P_m \lambda_m = O(1):$$

$$(b) \quad \sum_{n=1}^m P_n \Delta \lambda_n = O(1),$$

as $m \rightarrow \infty$ ⁽¹⁰⁾.

Lemma 4. *If $\sum a_n$ is bounded $[R, P_n, 1]$, and $\{\lambda_n\}$ is non-increasing such that the series $\sum p_n \lambda_n$ is convergent, then*

$$\sum_{n=1}^m \lambda_n p_n |s_n| = O(1),$$

as $m \rightarrow \infty$.

Proof. By ABEL'S transformation, and definition (1.1.2),

$$\sum_{n=1}^m \lambda_n p_n |s_n| = O\left[\sum_{n=1}^{m-1} P_n \Delta \lambda_n + \lambda_m P_m\right] = O(1),$$

as $m \rightarrow \infty$, by Lemma 3.

Corollary 1. *If $\sum a_n$ is bounded $[R, P_n, 1]$, and $\{\lambda_n\}$ is convex and bounded such that the series $\sum p_n \lambda_n$ is convergent, then*

$$\sum_{n=1}^m \lambda_n p_n |s_n| = O(1),$$

as $m \rightarrow \infty$.

Corollary 2. *If $\sum a_n$ is bounded $[R, P_n, 1]$, $\{p_n\}$ is positive monotonic non-increasing such that the series $\sum p_n^2/P_n$ is convergent and χ_n ($< n + 2$, for sufficiently large n) is a monotonic increasing function of n , then*

$$\sum_{n=1}^m \frac{p_n^2}{P_{n-1}} |s_{[\chi_n]-1}| = O(1),$$

as $m \rightarrow \infty$.

Proof. Under the hypotheses of Lemma 4, we have,

$$\sum_{n=1}^m \lambda_{[\chi_n]-1} p_{[\chi_n]-1} |s_{[\chi_n]-1}| = O(1),$$

⁽¹⁰⁾ In the particular case: $p_n = (n + 1)^{-1}$, compare (a) with CHOW [1], Lemma 4, and (b) with IZUMI e KAWATA [2], § 1 and PATI [7], Lemma 3.

as $m \rightarrow \infty$. We observe that $\frac{p_n}{P_n}$ satisfies the hypotheses about λ_n . Hence

$$\sum_{n=1}^m \frac{p_{[z_n]-1}^2}{P_{[z_n]-1}} |s_{[z_n]-1}| = O(1),$$

as $m \rightarrow \infty$. Hence

$$\sum_{n=1}^m \frac{p_n^2}{P_{n-1}} |s_{[z_n]-1}| = O(1),$$

as $m \rightarrow \infty$.

Lemma 5. Under the hypotheses (a), (b), (d) and (f) of our theorem

$$\sum_{n=1}^m \frac{1}{p_n} P_n \Delta^2 \lambda_n = O(1),$$

as $m \rightarrow \infty$ ⁽¹¹⁾.

Proof. We have

$$\begin{aligned} \sum_{n=1}^m \frac{1}{p_n} P_n \Delta^2 \lambda_n &= \sum_{n=1}^{m-1} \Delta \frac{P_n}{p_n} \sum_{\nu=1}^n \Delta^2 \lambda_\nu + \frac{P_m}{p_m} \sum_{n=1}^m \Delta^2 \lambda_n \\ &= - \sum_{n=1}^{m-1} \Delta \frac{P_n}{p_n} \Delta \lambda_{n+1} - \frac{P_m}{p_m} \Delta \lambda_{m+1} + \Delta \lambda_1 \left\{ \sum_{n=1}^{m-1} \Delta \frac{P_n}{p_n} + \frac{P_m}{p_m} \right\} \\ &= - \sum_{n=1}^{m-1} \left\{ P_n \Delta \frac{1}{p_n} - 1 \right\} \Delta \lambda_{n+1} + O(1) + O(1) \\ &= O \left[\sum_{n=1}^{m-1} P_n \Delta \lambda_{n+1} \right] + O(\lambda_m) + O(1) \\ &= O(1), \end{aligned}$$

as $m \rightarrow \infty$, by hypotheses, Lemma 1(a) and Corollary to Lemma 3.

⁽¹¹⁾ In the particular case: $p_n = (n+1)^{-1}$, compare with PATR [8], Lemma 2.

Lemma 6. Under the hypotheses of our theorem ⁽¹²⁾

$$\sum_{\nu=1}^{\theta_n} |\Delta_\nu \{ (P_n - P_{n-\nu}) p_{n-\nu} P_\nu p_\nu \lambda_\nu \} s_\nu| = O(p_n).$$

Proof. By hypothesis and Lemma 1 (b),

$$\begin{aligned} & \sum_{\nu=1}^{\theta_n} |\Delta_\nu \{ (P_n - P_{n-\nu}) p_{n-\nu} P_\nu p_\nu \lambda_\nu \} s_\nu| \\ & \leq K \sum_{\nu=1}^{\theta_n} p_{n-\nu}^2 P_\nu p_\nu \lambda_\nu |s_\nu| + K \sum_{\nu=1}^{\theta_n} (P_n - P_{n-\nu}) p_{n-\nu}^2 P_\nu p_\nu \lambda_\nu |s_\nu| \\ & + K \sum_{\nu=1}^{\theta_n} (P_n - P_{n-\nu}) p_{n-\nu} P_\nu p_\nu^2 \lambda_\nu |s_\nu| + K \sum_{\nu=1}^{\theta_n} (P_n - P_{n-\nu}) p_{n-\nu} P_\nu p_\nu \Delta \lambda_\nu |s_\nu| \\ & = K \sum_{r=1}^4 \mathfrak{J}_r, \text{ say.} \end{aligned}$$

Now

$$\begin{aligned} \mathfrak{J}_1 & \leq K p_{n-\theta_n}^2 P_{\theta_n} \sum_{\nu=1}^{\theta_n} p_\nu \lambda_\nu |s_\nu| \\ & \leq K p_n^2 P_n, \end{aligned}$$

by hypothesis and Corollary 1 to Lemma 4.

$$\begin{aligned} \mathfrak{J}_2 & \leq (P_n - P_{n-\theta_n}) \sum_{\nu=1}^{\theta_n} p_{n-\nu}^2 P_\nu p_\nu \lambda_\nu |s_\nu| \leq K \sum_{\nu=1}^{\theta_n} p_{n-\nu}^2 P_\nu p_\nu \lambda_\nu |s_\nu| \\ & \leq K p_n^2 P_n, \end{aligned}$$

⁽¹²⁾ Hypotheses (c) (ii), and (g) are not used here. Also it would be sufficient to take $\{\lambda_n\}$ as non-increasing instead of convex and bounded.

as in \mathfrak{J}_1 . Now, since $\{p_n\}$ satisfies the hypotheses on $\{\lambda_n\}$ in Lemma 3, $P_n p_n = O(1)$, as $n \rightarrow \infty$. Thus $\mathfrak{J}_r \leq K p_n$ ($r = 1, 2$).

By Corollary to Lemma 3,

$$\mathfrak{J}_3 \leq K(P_n - P_{n-\theta_n}) p_{n-\theta_n} \sum_{v=1}^{\theta_n} p_v^2 |s_v| \leq K p_n,$$

by Lemma 4 (on putting $\lambda_n = p_n$), and hypothesis.

By hypothesis,

$$\begin{aligned} \mathfrak{J}_4 &\leq K(P_n - P_{n-\theta_n}) p_{n-\theta_n} \sum_{v=1}^{\theta_n} P_v p_v \Delta \lambda_v |s_v| \leq K(P_n - P_{n-\theta_n}) p_{n-\theta_n} \sum_{v=1}^{\theta_n} p_v^2 |s_v| \\ &\leq K p_n, \end{aligned}$$

as in \mathfrak{J}_3 .

This completes the proof of the lemma.

Lemma 7. Under the hypotheses of our theorem ⁽¹³⁾

$$\sum_{v=1}^{\theta_n} |\Delta_v(P_{n-v} P_v p_{n-v} \lambda_v) s_v| = O(P_n^2 p_n).$$

Proof.

$$\begin{aligned} &\sum_{v=1}^{\theta_n} |\Delta_v(P_{n-v} P_v p_{n-v} \lambda_v) s_v| \\ &\leq K \sum_{v=1}^{\theta_n} p_{n-v}^2 P_v \lambda_v |s_v| + K \sum_{v=1}^{\theta_n} P_{n-v} p_v p_{n-v} \lambda_v |s_v| + \\ &+ K \sum_{v=1}^{\theta_n} P_{n-v} P_v p_{n-v}^2 \lambda_v |s_v| + K \sum_{v=1}^{\theta_n} P_{n-v} P_v p_{n-v} \Delta \lambda_v |s_v|, \quad \text{by Lemma 1 (b),} \\ &= K \sum_{r=1}^4 \mathfrak{J}'_r, \text{ say.} \end{aligned}$$

Now, by hypothesis and Corollary 1 to Lemma 4:

$$\begin{aligned} \mathfrak{J}'_1 &\leq K p_{n-\theta_n}^2 P_{\theta_n} \sum_{v=1}^{\theta_n} \frac{1}{p_v} p_v \lambda_v |s_v| \leq K p_{n-\theta_n}^2 P_{\theta_n} \frac{1}{p_{\theta_n}} \sum_{v=1}^{\theta_n} p_v \lambda_v |s_v| \\ &\leq K p_n P_n; \end{aligned}$$

$$\mathfrak{J}'_2 \leq K P_{n-1} p_{n-\theta_n} \sum_{v=1}^{\theta_n} p_v \lambda_v |s_v| \leq K P_n p_n;$$

$$\begin{aligned} \mathfrak{J}'_3 &\leq K P_{n-1} P_{\theta_n} p_{n-\theta_n}^2 \sum_{v=1}^{\theta_n} \frac{1}{p_v} p_v \lambda_v |s_v| \leq K P_{n-1} P_{\theta_n} p_{n-\theta_n}^2 \frac{1}{p_{\theta_n}} \sum_{v=1}^{\theta_n} p_v \lambda_v |s_v| \\ &\leq K P_v^2 p_n. \end{aligned}$$

⁽¹³⁾ Hypotheses (c) (i), (e) and (g) are not used here. Also it would be sufficient to take $\{\lambda_n\}$ as non-increasing instead of convex and bounded.

Also, by hypotheses,

$$\begin{aligned} \mathfrak{J}'_4 &\leq K P_{n-1} p_{n-\theta_n} \sum_{\nu=1}^{\theta_n} P_\nu \Delta \lambda_\nu |s_\nu| \leq K P_{n-1} p_{n-\theta_n} \sum_{\nu=1}^{\theta_n} p_\nu |s_\nu| \\ &\leq K P_{n-1} p_{n-\theta_n} P_{\theta_n} \leq K P_n^2 p_n. \end{aligned}$$

This completes the proof of the lemma.

3.1. - Proof of the Theorem. Since

$$t_n = \frac{P_n u_0 + P_{n-1} u_1 + \dots + P_0 u_n}{P_n} \quad (u_n = P_n p_n \lambda_n a_n),$$

we have

$$\begin{aligned} t_n - t_{n-1} &= \sum_{\nu=0}^{n-1} \left(\frac{P_\nu}{P_n} - \frac{P_{\nu-1}}{P_{n-1}} \right) u_{n-\nu} = \frac{1}{P_n P_{n-1}} \sum_{\nu=0}^{n-1} (p_\nu P_n - p_n P_\nu) u_{n-\nu} \\ &= \frac{1}{P_n P_{n-1}} \sum_{\nu=1}^n (p_{n-\nu} P_n - p_n P_{n-\nu}) u_\nu = \frac{p_n}{P_n P_{n-1}} \sum_{\nu=1}^n \left(\frac{P_n}{p_n} - \frac{P_{n-\nu}}{p_{n-\nu}} \right) p_{n-\nu} P_\nu p_\nu \lambda_\nu a_\nu. \end{aligned}$$

Thus, in order to prove the theorem, we have to establish that

$$(3.1.1) \quad \sum |t_n - t_{n-1}| = \sum_{n=1}^{\infty} \frac{p_n}{P_n P_{n-1}} |T| \leq K,$$

where

$$T = \sum_{\nu=1}^n \left(\frac{P_n}{p_n} - \frac{P_{n-\nu}}{p_{n-\nu}} \right) p_{n-\nu} P_\nu p_\nu \lambda_\nu a_\nu.$$

Now

$$\begin{aligned} (3.1.2) \quad T &= \left(\sum_{\nu=1}^{\theta_n-1} + \sum_{\nu=\theta_n}^n \right) \left(\frac{P_n}{p_n} - \frac{P_{n-\nu}}{p_{n-\nu}} \right) p_{n-\nu} P_\nu p_\nu \lambda_\nu a_\nu \\ &= \frac{1}{p_n} \sum_{\nu=1}^{\theta_n-1} (P_n - P_{n-\nu}) p_{n-\nu} P_\nu p_\nu \lambda_\nu a_\nu + \sum_{\nu=1}^{\theta_n-1} \left(\frac{1}{p_n} - \frac{1}{p_{n-\nu}} \right) p_\nu p_{n-\nu} P_{n-\nu} P_\nu \lambda_\nu a_\nu \\ &\quad + \frac{1}{p_n} \sum_{\nu=\theta_n}^n (p_{n-\nu} P_n - p_n P_{n-\nu}) P_\nu p_\nu \lambda_\nu a_\nu = T_1 + T_2 + T_3, \quad \text{say.} \end{aligned}$$

Now, by ABEL's transformation,

$$T_1 = \frac{1}{p_n} \left[\sum_{v=1}^{\theta_n-2} \Delta_v \{ (P_n - P_{n-v}) p_{n-v} P_v p_v \lambda_v \} s_v + (P_n - P_{n-\theta_n+1}) p_{n-\theta_n+1} P_{\theta_n-1} p_{\theta_n-1} \lambda_{\theta_n-1} s_{\theta_n-1} \right].$$

Hence by hypotheses and Corollary to Lemma 3,

$$(3.1.3) \quad |T_1| \leq K \frac{1}{p_n} \sum_{v=1}^{\theta_n-2} |\Delta_v \{ (P_n - P_{n-v}) p_{n-v} P_v p_v \lambda_v \} s_v| + K p_n |s_{\theta_n-1}| \leq K + K p_n |s_{\theta_n-1}|,$$

by Lemma 6.

By ABEL's transformation, since $\Delta_v \left\{ \left(\frac{1}{p_n} - \frac{1}{p_{n-v}} \right) p_v \right\} = O(p_v)$ by hypotheses,

$$(3.1.4) \quad |T_2| \leq K \sum_{v=1}^{\theta_n-2} p_v p_{n-v-1} P_{n-v-1} P_{v+1} \lambda_{v+1} |s_v| + K \sum_{v=1}^{\theta_n-2} |\Delta_v (p_{n-v} P_{n-v} P_v \lambda_v) s_v| + K p_{n-\theta_n+1} P_{n-\theta_n+1} P_{\theta_n-1} \lambda_{\theta_n-1} |s_{\theta_n-1}| \leq K p_n P_n^2 + K p_n P_n |s_{\theta_n-1}|,$$

by hypotheses, Corollary 1 to Lemma 4, Lemma 7 and Corollary to Lemma 3. By ABEL's transformation,

$$T_3 = \frac{1}{p_n} \sum_{v=\theta_n}^{n-1} \Delta_v \{ (p_{n-v} P_n - p_n P_{n-v}) P_v p_v \lambda_v \} s_v - \frac{1}{p_n} (p_{n-\theta_n} P_n - p_n P_{n-\theta_n}) P_{\theta_n} p_{\theta_n} \lambda_{\theta_n} s_{\theta_n-1} + (p_0 P_n - p_n P_0) P_n \lambda_n s_n = T_{31} - T_{32} + T_{33}, \quad \text{say.}$$

Now

$$(3.1.5) \quad |T_{31}| \leq \frac{1}{p_n} \sum_{v=\theta_n}^{n-1} (|\Delta_v p_{n-v}| P_n + p_n p_{n-v}) P_v p_v \lambda_v |s_v| + \frac{1}{p_n} \sum_{v=\theta_n}^{n-1} (p_{n-v-1} P_n - p_n P_{n-v-1}) p_v^2 \lambda_v |s_v| + K \frac{1}{p_n} \sum_{v=\theta_n}^{n-1} (p_{n-v-1} P_n - p_n P_{n-v-1}) P_v p_v^2 \lambda_v |s_v| + K \frac{1}{p_n} \sum_{v=\theta_n}^{n-1} (p_{n-v-1} P_n - p_n P_{n-v-1}) P_v p_v \Delta \lambda_v |s_v| = K \sum_{v=1}^4 T_{31v}, \quad \text{say.}$$

Now by hypothesis we have:

$$\begin{aligned} T_{311} &\leq K \frac{1}{p_n} \sum_{v=\theta_n}^{n-1} p_{n-v}^2 P_n P_v p_v \lambda_v |s_v| \leq K \frac{1}{p_n} P_n p_{\theta_n} \sum_{v=\theta_n}^{n-1} p_{n-v}^2 P_v \lambda_v |s_v| \\ &\leq K P_n \sum_{v=1}^{n-1} p_{n-v}^2 P_v \lambda_v |s_v|; \end{aligned}$$

$$\begin{aligned} T_{312} &\leq K \frac{1}{p_n} \sum_{v=\theta_n}^{n-1} p_{n-v} P_n p_v^2 \lambda_v |s_v| \leq K \frac{1}{p_n} P_n p_{\theta_n}^2 \sum_{v=\theta_n}^{n-1} p_{n-v} \lambda_v |s_v| \\ &\leq K P_n p_n \sum_{v=1}^{n-1} p_{n-v} \lambda_v |s_v|; \end{aligned}$$

$$\begin{aligned} T_{313} &\leq K \frac{1}{p_n} \sum_{v=\theta_n}^{n-1} p_{n-v} P_n P_v p_v^2 \lambda_v |s_v| \leq K \frac{1}{p_n} P_n p_{\theta_n}^2 \sum_{v=\theta_n}^{n-1} p_{n-v} P_v \lambda_v |s_v| \\ &\leq K P_n p_n \sum_{v=1}^{n-1} p_{n-v} P_v \lambda_v |s_v|; \end{aligned}$$

$$\begin{aligned} T_{314} &\leq K \frac{1}{p_n} \sum_{v=\theta_n}^{n-1} p_{n-v} P_n P_v p_v \Delta \lambda_v |s_v| \leq K \frac{1}{p_n} P_n p_{\theta_n} \sum_{v=\theta_n}^{n-1} p_{n-v} P_v \Delta \lambda_v |s_v| \\ &\leq K P_n \sum_{v=1}^{n-1} p_{n-v} P_v \Delta \lambda_v |s_v|. \end{aligned}$$

By Corollary to Lemma 3, we now have,

$$(3.1.6) \quad |T_{32}| \leq K \frac{1}{p_n} p_{n-\theta_n} P_n P_{\theta_n} \lambda_{\theta_n} p_{\theta_n} |s_{\theta_n-1}| \leq K P_n p_n |s_{\theta_n-1}|,$$

by hypothesis.

Also,

$$(3.1.7) \quad |T_{33}| \leq K P_n^2 \lambda_n |s_n|.$$

Hence, collecting the results (3.1.3)-(3.1.7), we have from (3.1.2),

$$\begin{aligned} (3.1.8) \quad |T| &\leq K + K p_n |s_{\theta_n-1}| \\ &+ K p_n P_n^2 + K p_n P_n |s_{\theta_n-1}| + K P_n \sum_{v=1}^{n-1} p_{n-v}^2 P_v \lambda_v |s_v| + K p_n P_n \sum_{v=1}^{n-1} p_{n-v} \lambda_v |s_v| \\ &+ K p_n P_n \sum_{v=1}^{n-1} p_{n-v} P_v \lambda_v |s_v| + K P_n \sum_{v=1}^{n-1} p_{n-v} P_v \Delta \lambda_v |s_v| + K P_n^2 \lambda_n |s_n|. \end{aligned}$$

Now, from (3.1.1) and (3.1.8), we observe that for the proof of our theorem it suffices to show that

$$(3.1.9) \quad I_r \leq K \quad \text{for } r = 1, \dots, 6,$$

where

$$\begin{aligned} I_1 &= \sum_{n=1}^{\infty} \frac{p_n}{P_n P_{n-1}}, & I_2 &= \sum_{n=1}^{\infty} \frac{p_n}{P_n P_{n-1}} p_n P_n^2, \\ I_3 &= \sum_{n=1}^{\infty} \frac{p_n}{P_n P_{n-1}} p_n P_n |s_{\theta_{n-1}}|, & I_4 &= \sum_{n=2}^{\infty} \frac{p_n}{P_n P_{n-1}} P_n \sum_{\nu=1}^{n-1} p_{n-\nu}^2 P_\nu \lambda_\nu |s_\nu|, \\ I_5 &= \sum_{n=2}^{\infty} \frac{p_n}{P_n P_{n-1}} P_n \sum_{\nu=1}^{n-1} p_{n-\nu} P_\nu \Delta \lambda_\nu |s_\nu|, & I_6 &= \sum_{n=1}^{\infty} \frac{p_n}{P_n P_{n-1}} P_n^2 \lambda_n |s_n|. \end{aligned}$$

We proceed to prove the inequalities (3.1.9).

$$I_1 \leq K, \text{ by Lemma 2.}$$

$$I_2 = \sum_{n=1}^{\infty} p_n^2 \frac{P_n}{P_{n-1}} = \sum_{n=1}^{\infty} p_n^2 \left(1 + \frac{p_n}{P_{n-1}}\right) \leq K \sum_{n=1}^{\infty} p_n^2 \leq K,$$

by hypothesis.

$$I_3 = \sum_{n=1}^{\infty} \frac{p_n^2}{P_{n-1}} |s_{\theta_{n-1}}| \leq K,$$

by Corollary 2 to Lemma 4.

$$\begin{aligned} I_4 &= \sum_{n=2}^{\infty} \frac{p_n}{P_{n-1}} \sum_{\nu=1}^{n-1} p_{n-\nu}^2 P_\nu \lambda_\nu |s_\nu| = \sum_{\nu=1}^{\infty} P_\nu \lambda_\nu |s_\nu| \sum_{n=\nu+1}^{\infty} \frac{p_n}{P_{n-1}} p_{n-\nu}^2 \\ &\leq K \sum_{\nu=1}^{\infty} P_\nu \lambda_\nu |s_\nu| \frac{p_{\nu+1}}{P_\nu} \sum_{n=\nu+1}^{\infty} p_{n-\nu}^2 \leq K \sum_{\nu=1}^{\infty} p_\nu \lambda_\nu |s_\nu| \leq K, \end{aligned}$$

by Corollary 1 to Lemma 4.

$$\begin{aligned} I_5 &= \sum_{n=2}^m \frac{p_n}{P_{n-1}} \sum_{\nu=1}^{n-1} p_{n-\nu} P_\nu \Delta \lambda_\nu |s_\nu| && (m \rightarrow \infty) \\ &= \sum_{\nu=1}^{m-1} P_\nu \Delta \lambda_\nu |s_\nu| \sum_{n=\nu+1}^m \frac{p_n}{P_{n-1}} p_{n-\nu} \leq \sum_{\nu=1}^m \Delta \lambda_\nu |s_\nu| \sum_{n=\nu+1}^m p_{n-\nu}^2 \\ &\leq K \sum_{\nu=1}^m \left(\frac{1}{p_\nu} \Delta \lambda_\nu\right) p_\nu |s_\nu| \leq K \left\{ \sum_{\nu=1}^{m-1} P_\nu \Delta \left(\frac{1}{p_\nu} \Delta \lambda_\nu\right) + \frac{1}{p_m} \Delta \lambda_m P_m \right\} \\ &\leq K \sum_{\nu=1}^{m-1} P_\nu \left\{ \frac{1}{p_\nu} \Delta^2 \lambda_\nu + \Delta \lambda_{\nu+1} \Delta \left(\frac{1}{p_\nu}\right) \right\} + K \\ &\leq K \sum_{\nu=1}^{m-1} P_\nu \frac{1}{p_\nu} \Delta^2 \lambda_\nu + K \sum_{\nu=1}^{m-1} P_\nu \Delta \lambda_{\nu+1} + K \leq K, \end{aligned}$$

by hypotheses, lemmas 1(a) and 5, and Corollary to Lemma 3.

$$J_6 \leq K \sum_{n=1}^{\infty} p_n \lambda_n |s_n| \leq K,$$

by Corollary 1 to Lemma 4.

This completes the proof of the theorem.

The author is indebted to Dr. T. PATI for his kind interest and guidance in the preparation of this paper.

References.

- [1] H. C. CHOW, *On the summability factors of Fourier series*, J. London Math. Soc. 16 (1941), 215-220.
- [2] S. IZUMI and T. KAWATA, *Notes on Fourier series. III: Absolute summability*, Proc. Imp. Acad. Tokyo 14 (1938), 32-35.
- [3] S. N. LAL, *On the absolute harmonic summability of the factored power series on its circle of convergence*, Indian J. Math. 5 (1963), 55-66.
- [4] L. MCFADDEN, *Absolute Nörlund summability*, Duke Math. J. 9 (1942), 168-207.
- [5] F. M. MEARS, *Some multiplication theorems for the Nörlund mean*, Bull. Amer. Math. Soc. 41 (1935), 875-880.
- [6] N. E. NÖRLUND, *Sur une application des fonctions permutables*, Lunds Univ. Årsskr. (2) 16 (1919), No. 3.
- [7] T. PATI, *The summability factors of infinite series*, Duke Math. J. 21 (1954), 271-284.
- [8] T. PATI, *Absolute Cesàro summability factors of infinite series*, Math. Z. 78 (1962), 293-297.
- [9] G. F. WORONOI, *Extension of the notion of the limit of the sum of terms of an infinite series*, Ann. of Math. 33 (1932), 422-428.
- [10] A. ZYGMUND, *Trigonometric Series*, Cambridge 1959.

* * *